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ECONOMICS
( Honours Core )
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( Development Economics—II )
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
Answer the following questions : 1x10=10
oo 2PPTYRY ©ed i

(a) Define sustainable development.

qoeTEY SHAeR e |

(b) Define fertility rate.
Tl 99 ik fa |
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(2)

(c) Give one example of non-renewable
resource.

| Y- MR 61 e e |

(d) What is migration?

S TN 6 2

fe) Mention one key challenge of collective
decision-making in organizations.

FWIERS  TRE Prag @RE @b 39
ORI SCEY 41 |

(fl Write one cause of gender inequality
in a family. :

<o AR (oo foRel-Caaaa @1 F=— fBs |

(g) What is the primary goal of micro-
finance institutions?

Fufde AfCOFPTRA T o f o

(h) What is meant by land acquisition?

wWﬁqWﬁf?
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(3)

(i) In which year was the Rio Summit
held?

R’ Afiem = v® cafee 2.
() Provide an example of  society
experiencing multiple social equilibria.
|
|

e TART SRR TRE @R 93
e Swrdel i |

2. Answer the following questions : 2x5=10
woiq 2T ed i

(a) Write two advantages of sharecropping.

CHR- e YOI J[YT o1 |

(p) What is gender bias?
foRel sreerfog fF 2

(c) Mention any two problems associated
with land.

ik e ige N @l B STem Sy
F0

A25/555 ( Turn Over )



(4) (S)

(d) What is the role of transparency and (d) Briefly discuss the difference between
accountability in good governance? community governance and corporate
overnarice.
IPTS FRO! S Mo Sl 6 2 i
STREWTE P S o P TER A T
S{TCEAAT P91

(e} What is environmental externality?

AR[ Al 2 () Explain the relationship between
’ economic activity and climate change.

HfAST T W e RGN TS

3. Answer any four of the following questions : ]
. i ST 1 |
O PP R (I BiREE Tew i
() Discuss the causes of financial
' instability in a globalized world.

(@) Discuss how income affects fertility

decisions. e <fRTe R sfiTer FRPH R

RIGIPRIREIN
S e Frarge (@ geR e o Rvc
STCEToAT 47 |
4. Answer any four of the following questions :

(b) Briefly discuss the functioning of labour oo 2pPTgER R e SIRER Tes fir -

market in agrarian society.

i ?

IREA e W R FRERE 253 (@ What is a common-pool resource:

SICETBT T | Discuss how the ‘tragedy of the

commons’ explains resource depletion.

i 2+8=10

(c) r;f;l-in the main objectives of land <o W—%ﬂmfﬂ sm &9 ‘Sﬂﬂf@s M

: Rl (T TR SF IR, Sl

S TKE T30 SomapTgE A 1 -
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(b)

(c)

(@

(e)
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(6)

Critically discuss the demographic
transition theory of population. 10
GPRAE GPRATS A OGCOT SIS
FAZFICI S 990

Discuss the main informational
problems in rural credit markets.
How do they affect borrowers and

lenders? 6+4=10
a9 @RS AW ¥ e O,
AL A1 2 AT GG A MO
@A dolfds FF 2

Explain the inter-linkages between rural
factor markets in developing countries. 10

Trgae wdAfes A SeME IERE TSR
SBLALCA ARM FAL

Explain the main contributions of
agriculture in the process of economic
development. 10

wetafer Tmw efewe PRI LI WelbE
(e 91 |

Explain the factors that influence
individual behaviour in an organization. 10

BT TES FiREore ALITT LSS F9 TR
R 40|

( Continued )

(h

(g)
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(7)

Explain the functioning of the credit
market in rural economy. 10

2 SAfES el TR P 07 1
Discuss the key objectives of

multilateral trade agreements. How do
they impact global trade? 6+4=10

TerRE e e @ W 19,
e 41 | R 2R [y IS @emE
7 2

* x %k

3 (Sem-6/CBCS) ECO HC 2

I



